Lab 7: Growth Curve Modeling

1. Open the file SASKFULL.SAV. This is a file containing height data for boys from the Saskatchewan Growth Study. This is a longitudinal study with measurements each year from age 6 to 16 years.
2. Use the Nonlinear procedure in the Regression menu. Fit the Preece-Baines equation to the height data for each of the subjects individually using nonlinear regression. 

In SPSS 
e(x) is written in computational form as EXP(x)

2(h1 – hq) is written in computational form as 2 * (h1 – hq)
Preece-Baines Model 1


[image: image1.wmf]







VARIABLE NAMES

ht is height at time t


HT, MEASAGE
h1 is final height


FINALHT
s0 and s1 are rate constants
S0, S1
q is a time constant


THETA
hq is height at t = q


PEAKHT

3. Theoretically any initial values for the parameters can be used. This model however is particularly sensitive to values chosen. Suggested initial values for the equation parameters are:

h1 = 185 [FINALHT]

hq = 156 [PEAKHT]

s0 = 0.1 [S0]

q = 14.4 [THETA]

s1 = 0.9 [S1]

4. On the options dialog box choose SAVE and check predicted values and residuals.

5. Using Scatterplot in the Graph menu, plot observed and predicted heights versus age for each subject.

6. Plot residuals versus age for each subject (with SPLIT FILE by SUBJECT ON) and for all subjects (with SPLIT FILE OFF)

7. Does the Preece-Baines model fit Humerus Width and Vital Capacity?
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